ABSTRACT STATEMENT OF ELECTION EXPENSES

PART - I

Name of Candidate : Shri. Jropsingh Nongkhlaw

Number and name of Constituency : 26-Shella (ST) A.C

Name of State/Union Territory : Meghalaya

Nature of Election : General Election

Date of Declaration of Result : 03rd March, 2018

Name and Address of the Election Agent : Shri. D. Pahsyntiew, Nongsteng

PART - II

I) Were you a Candidate set up by the Political Party : Yes

II) If Yes, name of Party : Bharat Janata Party

III) Is the Party a recognized Political Party : Yes

IV) If recognized political party, whether National/ State Party : No

V) Has your party incurred/authorized expenses in your election: No

VI) Has any other Association/Body of persons/

Individual incurred/ authorized expenses in your election : No

VII) If Yes, give its/his/their name(s) and complete Address : 1. Nil

2. Nil

3. Nil

Shr. D. pahyneur Election Agent BJP 26-Shella (ST) A/C

PART - III

ABSTRACT OF EXPENDITURE ON ELECTION BY THE CANDIDATE/ HIS ELECTION AGENT

		EXPENDITUE	TOTAL		
ITEMS OF EXPENDITURES		Candidate/his Election Agent	Political Party which set him up	Any other association/ body of Personal /individual	INCURRED/ AUTHORISED /TOTAL OF COLUMNS
	1	2	3	4	5
	Rs.	Rs.	Rs.	Rs.	Rs.
i.	Public Meetings, Procession, etc.	24,995.00	NIL	NIL	24,995.00
ii.	Campaign materials, like handbills, posters, video and audio cassettes, loudspeakers etc.	88,400.00	NIL	NIL	88,400.00
iii.	Campaign through electronic/Print Media (including cable network)	NIL	NIL	NIL	NIL
iv.		33,240.00	NIL	NIL	33,240.00
V.	Erection of gates, arches, cutouts, banners, etc.	44,500.00	NIL	NIL	44,500.00
vi.	Visits of 'Leaders' to the constituency {other than the expenditure on the travel of 'leaders' as defined in Explanation 2 under Section 77 (i) for propagating the programme of the Party}	NIL	NIL	NIL	NIL
vii.	Visit of other Party functionaries	NIL	NIL	NIL	NIL
viii	. Other Misc. Expenses	35,000.00	NIL	NIL	35,000.00
	GRAND TOTAL	2,26,135.00	NIL	NIL	2,26,135.00

(Rupees: Two Lakh Twenty Six Thousand One Hundred Thirty Five) only.

Shr. D. Pahsiphur Election Agent BJP 26 Shella (St) A/C

PART-IV

DETAILS OF EXPENDITURE ON VEHICLES USED

Details of all expenditure on all vehicles used in connection with the election including the vehicles supplies to candidate by his Political Party or any other Association/ Organization/ Body or any other individual are required to be shown (the only exception is the expense incurred in connection with travel of 'Leaders' of Political Party for propagating programme of Political Party covered by Explanation 1 and 2 under Section 77(1).

Regn. No. of vehicle	Type of Vehicle	No. of days for which used	•	naintenance and charges.	
			Amount spent by the candidate/ election Agent	Amount spent by the Political Party	Amount spent by any other Association/Body of persons / individual
1	2	3	4	5	6
ML05P-4170	Bolero	18 days	23050	Nil	Nil
ML05M-5693	Swift	14 days	7700	Nil	Nil
ML05M-2617	Alto	3 days	1650	Nil	Nil
Vehicle as per SOR	Vehicle Medium	1 day	840	Nil	Nil
	GRAND TOTAL		33240		

(Rupees: Thirty Three Thousand Two Hundred and Forty) only.

Shr. D. pahsynteuw Election Agent BTP 26-Shella (St) A/C

PART – V DETAILS OF EXPENDITURE ON PUBLIC MEETINGS

Public Meetings held by the candidate/his election agent/ his political party/ any other association/organization/body/any other individual (other than the candidate/ his election agent).

		Name of authority	Cost of erecting	Cost of	Other			amount shown in	
Date of Meeting	Venue of meeting	from whom permissio n obtained	pandal hiring of furniture &	hiring Loud Speaker and Microphone	miscellane ous expenses	Total	Candidate /Election Agent	The Political Party	Any other Association/ Body/ Individual
1	2	3_	4	5	6	7	8	9	10
06/02/2018	UMWAI	R. O.	NIL	2200	680	NIL	300	NIL	NIL
08/03/2018	MAWMLUH	R.O.	NIL	2400	1365	NIL	300	NIL	NIL
08/02/2018	MAWKISYIEM	R.O.	NIL	2400	1240	NIL	300	NIL	NIL
00/02/2019	LAITIAM	R.O.	NIL	2200	590	NIL	420	NIL	NIL
09/02/2018	RYNGUD	R.O.	NIL	2400	840	NIL	1320	NIL	NIL
	MAWSAHEW	R.O.	NIL	2400	590	NIL	360	NIL	NIL
10/02/2018	WAHKALIAR	R.O.	NIL	2200	540	NIL	240	NIL	NIL
	LUMMAWSHKEN	R.O.	NIL	2000	540	NIL	NIL	NIL	NIL
10/00/00/0	KUNONGRIM	R.O.	NIL	2400	540	NIL	240	NIL	NIL
12/02/2018	NONGSTENG	R.O.	NIL	2400	590	NIL	NIL	NIL	NIL
	TYRNA	R.O.	NIL	2400	940	NIL	NIL.	NIL	NIL
14/02/2018	SHELLA	R.O.	NIL	2200	540	NIL	4000	NIL	NIL
	SOHSARAT	R. O.	NIL	2400	590	NIL	NIL	NIL	NIL
	DALIA	R.O.	NIL	2400	540	NIL	360	NIL	NIL
15/02/2010	KHASYNDAH	R.O.	NIL	2400	540	NIL	1020	NIL	NIL
15/02/2018	LAITKYNSEW	R.O.	NIL	2400	540	NIL	120	NIL	NIL
	MUSTOH	R.O.	NIL	2400	540	NIL	120	NIL	NIL
16/02/2018	KUTMADAN	R.O.	NIL	2400	540	NIL	NIL	NIL	NIL
16/02/2018	MAWPUN	R.O.	NIL	2200	590	NJL	NIL	NIL	NIL
17/02/2018	UMBLAI	R.O.	NIL	2000	540	NIL	NIL	NIL	NIL
17/02/2018	MAWPHU	R.O.	NIL	2200	540	NIL	240	NIL	NIL
	MAWKLIAW	R.O.	NIL	2200	540	NIL	240	NIL	NIL
	NONGJRI	R.O.	4000	2200	540	NIL	800	NIL	NIL
19/02/2018	SUKTIA	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
	NONGLA	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
	MAWSIANGEI	R.O.	NIL	2200	590	NIL	NIL	NIL	NJL.

Shir D. pahsynluw-Election Agut BJP 26-Shella (ST) A1(

Contd...

¥		authority ero from pa whom hir permissio furn	Cost of erecting	Cost of hiring Loud Speaker and Microphone	Other miscellane ous expenses	Total	Out of the amount shown in Col 7. The component of expenditure incurred by		
Date of Meeting	Venue of meeting		pandal hiring of furniture & fixtures				Candidate /Election Agent	The Political Party	Any other Association/ Body/ Individual
1	2	3	4	5	6	7	8	9	10
	NAYABASTI	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
20/02/2018	MAJAI	R.O.	NIL	2400	540	NIL	720	NIL	NIL
	SOHKHMIE	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
21/02/2019	MAWBANG	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
21/02/2018	ICHAMATI	R.O.	NIL	2200	140	NIL	NIL	NIL	NIL
21/02/2010	MAWSMAI	R.O.	NIL	2200	790	. NIL	240	NIL	NIL
21/02/2018	NONGTHYMMAI	R.O.	NIL	2200	390	NIL	NIL	NIL	NIL
22/02/2019	LAITTYRA	R.O.	NIL	2200	330	NIL	240	NIL	NIL
22/02/2018	SOHBAR	R.O.	NIL	2200	540	NIL	NIL	NIL	NIL
	THANGKHARANG	R.O.	NIL	2200	540	NIL	240	NIL	NIL
22/02/2019	UMKHABAW	R.O.	9000	2400	1580	NIL	1620	NIL	NIL
23/02/2018	MAWLONG	R.O.	NIL	2400	780	NIL	NIL	NIL	NIL
24/02/2018	UMNIUH	R.O.	12000	2000	1040	NIL	6060	NIL	NIL
	Grand Total		25000	88400	24995	NIL	19500	NIL	NIL

Grand Total (Col. 8+9+10) = 19500.00

Name of Candidate Name of Constituency : Shri. Jropsingh Nongkhlaw

: 26-Shella (ST)

Assembly Constituency

Sh. D. pahsymens Election Agent BJP 26-Shella (ST) A/C

ACKNOWLEDGEMENT FORM

10	The Returning 26-Shell		ently was	utioney	ia F		
Sir,	I acknowledge	receipt of you	ur letter No. N	OSSD/LA/EL	5/Pt-I/201	7/145 (A)	
	School 12 Mose er bearing serie	2018 along	with its enclos	ures containing	g, among other	documents, a	l

2. I have noted the requirements of law for maintenance of account of election expenses and lodging of true copy of that account with the District Election Officer/ Returning Officer.

accounts of election expenses.

1 ours familiarly

Signature of the Candidate with date

Shr. Joopsinga Norgahlaw

P

खा. सं. A/c No.

दिनांक DATE	चेक सं. CHQ. NO.	वित्ररण PARTICULARS ,	नामे DEBITS (₹)	जमा CREDITS (₹)	बकाया BALANCE (₹)	आद्यक्षर
. *					٠,	
17-02 17-02 19-02	2-18 314 2-18 2-18 314 2-18 314 2-18 314	NEFT fm BJP:SBIN8180 44019990 4851SELF BY CASH 4852BY CASH 4854SELF 4855SELF BY CASH	300000.0 50000.0 75000.0 50000.0	200000. 0 0	0.0 00 200000.0 150000.0 75000.0 25000.0	0 0C 0C 0C
05-03	3-18.31	1856SELF	1.05000.0	0	0.0	0

Certified that a sum of Rs. 20,700/-/- (Rupees: Twenty Thousand and Seven Hundred), was incurred for the dates mentioned below in connection with election expenses of Shri. Jropsingh Nongkhlaw as per SOR.

SI. No	Date	Particulars	Rate	Quantity	Amount
1.	14/02/2018	Flags 2 Sq. Ft	40	70	2800.00
	*	otal adjustment as	per SOR		2800.00
2.	1.0/02/2010	Chairs	5	105	525.00
	16/02/2018	Chairs	5	96	480.00
3.	17/02/2018	Chairs	5	96	480.00
	To	otal adjustment as	per SOR		1485.00
4.		Chairs	5	50	250.00
		Chairs	5	. 50	250.00
		Chairs	5	60	300.00
		Chairs	5	100	500.00
		Table	40	1	40.00
	19/02/2018	Amplifier	2000	1	2000.00
		Horn	200	1	200.00
		Chairs	- 5	110	550.00
		Table	40	1	40.00
		Amplifier	2000	1	2000.00
		Horn	200	1	200.00
5.		Chairs	5	100	500.00
		Table	40	1	40.00
	20/02/2018	Amplifier	2000	1	2000.00
		Horn	200	1	200.00
6.		Chairs	5	100	500.00
		Table	40	1	40.00
	f.	Amplifier	2000	1	2000.00
		Horn	200	1	200.00
	21/02/2018	Chairs	5	20	100.00
		Table	40	1	40.00
		Amplifier	2000	1	2000.00
		Horn	200	1	200.00
		Chairs	5	45	225.00
7.	22/02/2010	Chairs	5	50	250.00
/.	23/02/2018	Chairs	5	90	450.00
8.	24/02/2018	Vehicle medium	840	1.	840.00
	To	otal adjustment as	per SOR	-	16415.00
		Grand Total Adjust	ment		20700.00

(Rupees: Twenty Thousand and Seven Hundred) only.

Date: 28/8/2018

(Shri. D. Pahsyntiew) Election Agent B.J.P 26-Shella (ST) Assembly Constituency

Certified that a sum of Rs. 2800/- (Rupees: Two Thousand Eight Hundred), was incurred for the dates mentioned below in connection with election expenses of Shri. Jropsingh Nongkhlaw as per SOR.

SI.	Date	Particulars	Rate	Quantity	Amount
No					
1.	14/02/2018	Flags 2 Sq. Ft	40	70	2800.00
	Total				2800.00

(Rupees: Two Thousand Eight Hundred) only.

Date: 16/2/2018

(Shri. D. Hansyntiew)
Election Agent B.J.P.
26-Shella (ST) Assembly
Constituency

Certified that a sum of Rs. 1485/- (Rupees: One Thousand Four Hundred Eighty Five), was incurred for the dates mentioned below in connection with election 'expenses of Shri. Jropsingh Nongkhlaw as per SOR.

SI. No	Date	Particulars	Rate	Quantity	Amount
1.	16/02/2010	Chairs	5	105	525.00
	16/02/2018	Chairs	5	96	480.00
2.	17/02/2018	Chairs	5	96	480.00
	Total				1485.00

(Rupees: One Thousand Four Hundred Eighty Five) only.

Date: 20/2/2018

(Shri. D. Pahsyntiew)
Election Agent B.J.P.
26-Shella (ST) Assembly
Constituency

Certified that a sum of Rs. 16415/- (Rupees: Sixteen Thousand Four Hundred Fifteen), was incurred for the dates mentioned below in connection with election expenses of Shri. Jropsingh Nongkhlaw as per SOR.

Date	Particulars	Rate	Quantity	Amount
	Chairs	5	50	250.00
	Chairs	5	50	250.00
	Chairs	5	60	300.00
	Chairs	5	100	500.00
	Table	40	1	40.00
19/02/2018	Amplifier	2000	1	2000.00
	Horn	200	1	200.00
*	Chairs	5	110	550.00
	Table	40	1	40.00
	Amplifier	2000	1	2000.00
	Horn	200	1	200.00
	Chairs	5	100	500.00
20/02/2040	Table	40	1	40.00
20/02/2018	Amplifier	2000	1	2000.00
	Horn	200	1	200.00
	Chairs	5	1.00	500.00
	Table	40	1	40.00
	Amplifier	2000	1	2000.00
	Horn	200	1	200.00
21/02/2018	3 Chairs	5	20	100.00
	Table	40	1	40.00
E.	Amplifier	2000	1	2000.00
	Horn	200	1	200.00
	Chairs	5	45	225.00
23/02/2018	Chairs	5	50	250.00
23/02/2010	Chairs	5	90	450.00
24/02/2018	3 Vehicle medium	840	1	840.00
	Total			16415.00

(Rupees: Sixteen Thousand Four Hundred Fifteen) only.

Date: 25/2/2018

(Shri. D. Pansyntiew)
Election Agent B.J.P
26-Shella (ST) Assembly
Constituency



मेघालया MEGHALAYA

02AA 964675

PART-IV

BEFORE THE NOTARY PUBLIC, EAST KHASI HILLS DISTRCT AT SHILLONG

AFFIDAVIT

Before the District Election Officer East Khasi Hills District, Meghalaya

Affidavit of SHRI. JROP SINGH NONGKHLAW, son of (L) H. Lyngskhor

I, SHRI. JROP SINGH NONGKHLAW, son of (L) H. Lyngskhor, aged 58 years, resident of Mawlai Nongpdeng, Shillong Pin code-793008, East Khasi Hills District, Meghalaya do hereby solemnly and sincerely state and declare as under:

1) That I was a contesting candidate at the general election/bye election to the House of the People/Legislative Assembly of Meghalaya from 26-(ST) Shella Parliamentary/Assembly Constituency, the result of which was declared on 03rd. March.2018.

That I/my election agent kept a separate and correct account of all expenditure incurred/authorized by me/my election agent in onnection with the above election between 06/02/2018-03/03/2018 the date of which I was nominated) and the date of declaration of the esult thereof, both days inclusive.

Cont....p/2

- 3) That the said account was maintained in the Register furnished by the Returning Officer for the purpose and the said Register itself is annexed hereto with the supporting vouchers/bills mentioned in the said account.
- 4) That the account of my election expenditure as annexed hereto includes all items of election expenditure incurred or authorized by me or by my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election, and nothing has been concealed or withheld/suppressed therefrom (other than the expense on travel of leaders' covered by Explanations 1 and 2 under Section 77 (1) of the Representation of the People Act, 1951).
- 5) That the Abstract Statement of Election Expenses annexed as Annexure II to the said account also includes all expenditure incurred or authorized by me, my election agent, the political party which sponsored me, other associations/body of persons and other individuals supporting me, in connection with the election.
- 6) That the statements in the foregoing paragraphs (1) to (5) are true to the best of my knowledge and belief, that nothing is false and nothing material has been concealed.

DEPONENT

Solemnly affirmed/sworn by **Mr. Richard T.N. Pomtiah** at Shillong this day the 29th of March 2018 before me.

Ht.GD:NU:UJ9

Identified by:-

(Mr. Richard T.N. Pomtiah)

Advocate

NOTARY PUBLIC

SHILLONG MELARIKA LYNGWA

NOTARY

East Khasi Hills District Government of Magnalaya